Calculations for IFS for flowsnake using hexagons
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Scaling/Rotation matrix in x (.degrees, with scaling by r
expand(r-cos(x-deg)) expand(-r-sin(x-deg))
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evalf (rot(A))
0.3571428571 -0.1237179149
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with(LinearAlgebra) :

vl = Vector([0, 1])

g

Tl = vl — Multiply(rot(A), vI)
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V2 = Vector(

T2 == v2 — Multiply(rot(A), v2)

v3 = Vector(

T3 = v3 — Multiply(rot(A), v3)

15 := -T2

16 :==-T3
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evalf (T1)

evalf (T2)

evalf (T3)

evalf (T4)

evalf (TS)

evalf (T6)

[ 0.1237179149 |
0.6428571429

[ 0.6185895742 |
0.2142857143

[ 0.4948716594 |
-0.4285714286
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